BEWEET 7 — FRABRBR (Ulk) 3/3~3/7

MR

5 S ZDh BB
TR 15 85 0 149

TN = 0~95%
F

" 10~1975%
1%

0,
2% /—O/M 3% 20~297%
(]

" 30~3975%
= 40~497%
= 50~5975%
" 60~695%
= 70~795%

80~897%
= 90/ U E

0~95 [10~19%%[20~295% [30~39%% [40~495%
Fi 1 2 7 4 11
50~597% |60~ 697% [ 70~ 797% |80~ 895% [90% LA E |EIZ £
21 20 41 28 3 138

N2 MbEh B DB
8%

B2
82%
PIES v wmrsonr | FRES EES #

AHOED N3 11 111 135




AES!
EERBAR
MRAF — 3
MO0 25 PO AL
AR .1
SHAL2RAE —
FERSS - AAHAR n—— 5
NEER |1
NEARE 0

8

BEAR eeeee— 9

PR AR ——

LR 22 ANR e 10

TR E 2

FER —— 5

8

[EE 143

15

12

13

SAEREER] e | 7
ERAR naaessssssesessmmm— 11

R m— 4
H%Dﬂfiﬂ. |
fEmER 0
MatHeh n—

RIBZMR 0
MREEL 0

B OS] — 4

Ry )y AR = 1
0 5

Lz EALER (EREZER)

8

10

15

20

[E# 276

oo EEEE A S OFS I 70

HUENCZEZZ -2 e H 5 h > IS 42

RELEAREEZL > I 35

ik - AL HTTHSN Il 7

EEXHFENARWE B -7-h o> I 26

BEEXES, oIEVLA S I 33

NIFERED S I 22
S VBEEAZITONE EB-7-h s I 23

FHIORWEEA WS A S 10

Z0f B 3

0

20

40

60

80




BEOXICOWNT

o S o«
2%
1%

e S 555
1%
=izt IS
1%

A UAEY
s e R

RERGL COBE
0% 20% 40% 60% 80% 100%

1%

BER R (ETHE BSOS BROORE BNE

BB QX IZDLNT

e FEBRE 525  [OOTm | Tm EEE
] 81 38 17 3 0 139
HEAD 71 44 17 2 1 135
2SR 63 44 29 1 1 138
éégﬁﬁﬁ%@gla}ﬁé 67 34 30 0 0 131

FHRRICOWT (ERR)

5%

9%

W

bl

5%
PEVRERTER

2

6%

0% 20% 40% 60% 80% 100%

BT BPRAEL BSDD ERPRL BRRD

FHEMICOLT |58 PPEVD[SADD [PPRV RN EZE#

N uy— 12 58 38 25 140
N 8 4
TERORERTE | 8 65 39 17 136

REETORFHLEERE




Z/NBF
2N

LRCRERTHR
25t £ TOEL R

FHEMBICOWT (KFFE)

0%

—

20%

28%

40%

44%

60%

3%

80%

4%

100%

W 309K M 30~60% ®W60~90% M90~120% W 1204 E
FHEEREICDULT (309K [30~60% (60~ 905 [90~ 1204 {1205 LAk ([ B %k
PE BREFTOHLERM (34 38 34 15 16 137
“f;f’ffjﬁﬁg%“ 56 59 11 5 4 135

FEERIC DWW T

7rezoLeys I

30% q
(]

4%

CERRTONERN D
2RE, BrRoseds I 32% - 2% i
6%
oz 37% - 33% W
5%1%
rroEze I 47%
1%
0% 20% 40% 60% 80% 100%
iR WEIEHE BSD0 BRORE BRE
FeERIZ DT 3t B FXmE[S5DD [POOFRHE | EEE
TOEADLOTE (42 41 48 5 0 136
EfEIBEDELVPTE [17 31 36 23 5 112
ENE. BREROHOTE |27 43 57 8 0 135
RN D Bl ih 27 51 52 7 0 137
SRR D5 R R 47 63 22 2 1 135




BRI DOWNT

1%

0% 20% 40% 60% 80%

BEE R (RDHE BSOS BODRNE BAE

100%

Bt 0

0% 20% 40% 60% 80%

100%

BEEHHT- BEDZLD B ELLTHRL BHE Y ENDT <L BEND T R0

wREEIZONT [ER FXBRE[S5DD [POFE|TE BESE
[(ESHICERD |43 67 25 i 0 136
2Fantl [E1DOT=L) [esotihn [szvporan [Bo1-<al BB
134

[ R NZ BT\ |29 73 32 0 0




